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Quadrilateral

Quadrilateral is a plane figure bounded by

four straight lines. the line segment which joins

the opposite vertices of a quadrilateral is called

diagonal of the quadrilateral. In figure, ABCD is

a quadrilateral and AC, BD are its two diagonals.

prqHkqZt pkj lh/h js[kkvksa ls f?kjh ,d lery vkÑfr
gksrh gSA foijhr 'kh"kks± dks tksM+us okyk js[kk[kaM prqHkqZt dk
fod.kZ dgykrk gSA vkÑfr esa] ABCD ,d prqHkqZt rFkk AC,

BD blds nks fod.kZ gSaA

A B

C

D

Sum of interior angles of a quadrilateral = 360º

prqHkqZt ds var%dks.kksa dk ;ksxiQy = 360º

i.e., A + B + C + D = 360º

Important Points/egRoiw.kZ fcUnq

 2 (AC + BD) > (AB + BC + CD + DA) > (AC + BD)

 If diagonals of the quadrilateral intersect
each other at 90º, then

;fn fdlh prqHkqZt ds fod.kZ ,d&nwljs dks 90º ij
izfrPNsn djs rks]
AB2 + CD2 = BC2 + AD2

A B

C

D

GEOMETRY
(QUADRILATERAL)

 Area of quadrilateral/prqHkqZt dk {ks=kiQy

A B

CD

F

E

=
1

2
 × BD × AE +

1

2
× BD × CF

=
1

2
 × BD (AE + CF)

=
1

2
× diagonal × (sum of perpendicular

 dropped on it)

=
1

2
× fod.kZ × (fod.kZ ij Mkys x, yEcksa dk ;ksx)

Ex.1. Find the value of x in the given figure.

nh xbZ vkÑfr esa x dk eku Kkr djsaA

3
–1

6º
x

3
+1

6º

x

x+1
0
º

2
x+8

º

(a) 42º (b) 40º

(c) 38º (d) 44º

Ex.2. Find the value of x./

x dk eku Kkr djsaA

A B

C

D

75º 130º

110º

x
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(a) 165º (b) 115º

(c) 45º (d) 75º

Ex.3. Find the value of x in the given figure.

nh xbZ vkÑfr esa x dk eku Kkr djsaA

70º

150º

60º xº

(a) 10º (b) 20º

(c) 30º (d) 50º

 The quadrilateral formed by joining the
mid-point of the adjacent side of the
quadrilateral will be a parallelogram of
half area.

prqHkZqt dh vklUu Hkqtk ds eè;&fcanq dks feykus ls
cuus okyk prqHkZqt vk/s {ks=kiQy dk lekarj prqHkZqt
gksxkA

A  S   D   

B Q   C   

R   P

If P, Q , R , S are the mid-point of the
side AB, BC, CA and DA, respectively,
then

;fn P, Q , R , S Øe'k% Hkqtkvksa AB, BC, CA

vkSj DA ds eè; facanq gks rks%
(a) PQRS is a parallelogram

    PQRS ,d lekUrj prqHkqZt gksxk
(b) If the area of the quadrilateral is x, then

   Area of the parallelogram PQRS = 
x

2
;fn prqHkqZt dk {ks=kiQy x gks rks lekUrj prqHkqZt

PQRS  dk {ks=kiQy = 
x

2

A  S   D   

B Q   C   

R   P x/2

 If BO and CO are the angle bisectors of
angles B and C, respectively, then

;fn BO rFkk CO Øe'k% B vkSj C ds dks.k
lef}Hkktd gks rks%

A  D   

B C   

O 

BOC =
1

2
(A + D)

Ex.4. What is the area of the quadrilateral
PQRS, which is formed by joining the
mid-points of the adjacent sides of a
quadrilateral ABCD as shown in the
figure, if it is provided that

APS = 8 cm2, BPQ = 12 cm2, QCR =
9 cm2 and RDS = 15 cm2.

fp=kkuqlkj prqHkqZt ABCD dh laxr Hkqtkvksa ds eè;
fcUnqvksa dks feykus ls cus prqHkqZt PQRS dk {ks=kiQy
D;k gS ;fn ;g fn;k x;k gS fd
APS = 8 oxZ lseh] BPQ = 12 oxZ lseh]
QCR = 9  oxZ lseh vkSj RDS = 15 oxZ lsehA

B C

DA

P

Q

R

S

(a) 88 cm2 (b) 44 cm2

(c) 22 cm2 (d) 30 cm2

Ex.5. In a quadrilateral ABCD, AO and BO are
the bisectors of angles A and B
respectively. If D = 80º and C = 110º,
then AOB is :

fdlh prqHkqZt ABCD esa] AO rFkk BO Øe'k% A

rFkk B ds lef}Hkktd gSaA ;fn D = 80º rFkk
C = 110º gS] rks  AOB dk eku Kkr dhft,A
(a) 95º (b) 85º

(c) 90º (d) 105º

Ex.6. In a quadrilateral ABCD, the lengths of
the perpendiculars drop from vertices B
and D on diagonals AC are 9 cm and 15
cm respectively. If AC = 16 cm, the area
of the quadrilateral ABCD is :

prqHkqZt ABCD esa] 'kh"kks± B rFkk C ls fod.kZ AC

ij Mkys x, yEc dh yackbZ Øe'k% 9 lseh rFkk 15
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lseh gSA ;fn AC = 16 lseh gS rks prqHkqZt ABCD

dk {ks=kiQy gS %

A B

CD

M

N
15 cm

9 cm

(a) 96 cm2 (b) 192 cm2

(c) 384 cm2 (d) 288 cm2

Ex.7. Diagonals AC and BD of quadrilateral
ABCD intersect at a point O. If the ABO
= 40 cm², BOC = 60 cm² and COD = 48
cm², then the area of the quadrilateral
ABCD is

prqHkZqt ABCD ds fod.kZ AC vkSj BD ,d nqljs
dks fcanq O ij çfrPNsn djrs gSaA ;fn ABO dk
{ks=ki Qy  40 l seh2] BOC  dk {ks=kiQy 60lseh² vkSj
COD  dk {ks=kiQy 48 lseh2 gks rks prqHkqZt  ABCD

dk {ks=kiQy Kkr dhft,A

A  D   

B C   

O 

(a) 220 cm² (b) 200 cm2

(c) 196 cm² (d) 180 cm2

Square/oxZ

A quadrilateral in which all the sides and
the angles are equal is known as a square.

,d ,slk prqHkqZt ftldh lHkh Hkqtk,¡ ,oa dks.k cjkcj
gksa] oxZ dgykrk gSA

A B

CD

Important Points/egRoiw.kZ fcUnq
 All sides are equal and parallel.

lHkh Hkqtk,¡ cjkcj vkSj lekarj gksrh gSaA
 All angles are right angles.

lHkh dks.k ledks.k gksrs gSaA
 Diagonals are equal and bisect each other

at right angle.

fod.kZ cjkcj ,oa ,d&nwljs dks ledks.k ij lef}Hkkftr
djrs gSaA

 Straight lines joining the mid points of
adjacent sides of any square forms a square.

oxZ dh laxr Hkqtkvksa ds eè; fcUnq dks feykus ls cuus
okyh vkÑfr oxZ gksrh gSA

A B

CD

P

Q

R

S

P, Q, R, and S are mid points and PQRS is a
square.

P, Q, R vkSj S eè;&fcUnq gSa rFkk PQRS ,d oxZ gSA
 Side of a circumscribed square is equal to

the diameter of the inscribed circle.

fdlh o`Ùk ds vanj cus oxZ dh Hkqtk o`Ùk ds O;kl ds
cjkcj gksrh gSA

A B

CD

O

A B

E F

D C

Area = (Side)2 = (a)2 = =
2 2(diagonal)

2 2

d

A B

CD

a

a

a ad

 Diagonal/fod.kZ = side 2  = a 2

 Perimeter/ifjeki = 4 × side = 4a

 If P be a point inside a square ABCD, then
PA2 + PC2 = PB2 + PD2

;fn P oxZ ds vanj dksbZ fcanq gks rks
PA2 + PC2 = PB2 + PD2
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D C

B A

P 

Ex.1. As shown in the figure, P is a point inside
a square ABCD such that PA = 15 cm, PB
= 7 cm and PC = 20 cm, the value of PD is :

tSlk fd fp=k esa fn[kk;k x;k gS] dksbZ fcUnq P oxZ
ABCD ds vanj bl izdkj gS fd PA = 15 lseh]
PB = 7 lseh vkSj PC = 20 lseh gSA PD dk eku gS%

A B

CD
P

(a) 18 cm (b) 24 cm

(c) 25 cm (d) 36 cm

Ex.2. The perimeter of a square is 32 3  cm,

then its area is :

fdlh oxZ dk ifjeki 32 3  lseh gS] rks bldk
{ks=kiQy gS %
(a) 96 cm2 (b) 48 cm2

(c) 64 cm2 (d) 192 cm2

Ex.3. The length of the diagonal of a square is

6 2  cm, the perimeter of the square is :

fdlh oxZ ds fod.kZ dh yackbZ 6 2  lseh gS] rks
oxZ dk ifjeki gS %
(a) 24 cm (b) 48 cm

(c) 24 2  cm (d) 12 2  cm

Ex.4. If ABCD is a square, X is a point on CD,

such that DX = DO. Find 
DOX

XOC




. O is the

intersection point of diagonals.

;fn ABCD ,d oxZ gS] CD ij X dksbZ fcUnq bl

izdkj gS fd DX = DO gSA 
DOX

XOC




 dk eku Kkr

dhft, ;fn O fod.kks± dk izfrPNsn fcUnq gSA

A B

CD

O

X

(a) 2 : 1 (b) 2 : 3

(c) 3 : 1 (d) 4 : 1

Ex.5. ABCD is a square. BEC is an equilateral
triangle inside the square. If CE and BD
intersects at O. Find BOC = ?

ABCD ,d oxZ gSA oxZ ds vanj BEC dksbZ leckgq
f=kHkqt gSA ;fn CE vkSj BD fcUnq O ij izfrPNsn djrs
gksa] rks BOC dk eku Kkr dhft,A
(a) 60° (b) 75°

(c) 55° (d) 80°

Ex.6. ABCD is a square with side length 10. A
circle is drawn through A and D so that
it is tangent to BC. What is the radius of
circle?

ABCD, 10 lseh yEch Hkqtk okyk oxZ gSA ,d o`Ùk
A rFkk D ls gksdj bl izdkj xqtjrk gS fd ;g BC

ij Li'kZ djrk gSA o`Ùk dh f=kT;k Kkr dhft,A

A B

CD

(a) 4.25 (b) 4.5

(c) 5.5 (d) 6.25

Rectangle

A quadrilateral in which all the four angles
at vertices are right (i.e., 90º), is called a
rectangle.

,slk prqHkqZt ftlesa 'kh"kZ ds pkjksa dks.k ledks.k vFkkZr~
90º ds gksrs gS] vk;r dgykrk gSA

A B

CD

Important Points/egRoiw.kZ fcUnq

 Opposite sides are parallel and equal.

foijhr Hkqtk,¡ lekarj ,oa cjkcj gksrh gSaA
 Diagonals are equal and bisect each other

but not at right angles.

fod.kZ cjkcj rFkk ,d&nwljs dks lef}Hkkftr djrs gSa
ijarq ledks.k ij ughaA

 Perimeter = 2(l + b) where l = length and b =
breadth

ifjeki = 2(l + b) tgk¡ l = yackbZ vkSj b = pkSM+kbZ gSA
 Area/{ks=kiQy = AB × BC = l × b

 Diagonal/fod.kZ = (l2 + b2)
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 Of all the rectangles of given perimeter the
square will have the maximum area.

fn;s gq, ifjeki okys lHkh vk;rksa esa ls oxZ dk {ks=kiQy
vf/dre gksrk gSA

 Bisector of the four angles enclose a square

pkjksa dks.kksa ds lef}Hkktd ,d oxZ cukrs gSaA
 When the rectangle is inscribed in a circle,

it will have the maximum area when it is a
square.

o`Ùk ds vanj cus vk;r dk {ks=kiQy vf/dre gksxk tc
;g ,d oxZ gksrk gSA

 If P is a any point inside the rectangle then,
AP² + PC², = BP² + PD²

;fn P vk;r ds vanj dksbZ fcanq gks rks
AP² + PC², = BP² + PD²

R

Q

D

A B

C

x  

y  

P 

Ex.1. There is a point P in a rectangle ABCD,
such that PA = 4, PD = 5, PB = 8, find PC.

vk;r ABCD ds vanj dksbZ fcUnq P bl izdkj gS fd
PA = 4, PD = 5, PB = 8 gS] rks PC dk eku Kkr
dhft,A

(a) 55 (b) 73

(c) 37 (d) 67
Ex.2. Q is a point in the interior of a rectangle

ABCD. If QA = 3cm, QB = 4 cm and QC =
5 cm, then length of QD (in cm) is

fcanq Q vk;r ABCD ds vanj dksbZ fcanq gSA ;fn
QA = 3lseh, QB = 4 lseh vkSj QC = 5 lseh gks rks
QD (lseh esa) gS

(a) 3 2 (b) 5 2

(c) 34 (d) 41
Ex.3. In a rectangle ABCD, AC and BD meet at

O. If AO = 3x – 8 and BO = x + 2, then x = ?

vk;r ABCD esa] AC rFkk BD fcUnq O ij feyrs gSaA
;fn AO = 3x – 8 vkSj BO = x + 2 gS] rks x = ?

A B

CD

O3 – 8x 

x + 2

(a) 3 (b) 5

(c) 6 (d) 7

Ex.4. If the ratio of the length and the
perimeter of a rectangle is 2 : 7 and one
of the diagonals is 20 cm, the area of the
rectangle is :

;fn fdlh vk;r dh yEckbZ rFkk ifjeki dk vuqikr
2 % 7 gks rFkk ,d fod.kZ dh yackbZ 20 lseh gks rks
vk;r dk {ks=kiQy Kkr dhft,A
(a) 200 cm2 (b) 192 cm2

(c) 400 cm2 (d) 288 cm2

Ex.5. In a rectangle ABCD, AB = 6 cm and DA
= 12 cm. What is the area of the
quadrilateral formed by joining the mid-
point of the sides of the rectangle ABCD?

fdlh vk;r ABCD esa AB = 6 lseh vkSj DA = 12

lseh gSA vk;r ABCD dh Hkqtkvksa ds eè; fcUnqvksa
ls cuus okys prqHkqZt dk {ks=kiQy Kkr dhft,A
(a) 18 cm2 (b) 36 cm2

(c) 72 cm2 (d) 48 cm2

Ex.6. ABCD is a rectagle. P and Q are two points
on AB, such that AP : PQ : QB = 3 : 4 : 5.
Find the ratio of area PQC and rectangle
BCD.

ABCD ,d vk;r gSA Hkqtk AB ij nks fcUnq P rFkk
Q bl izdkj gS fd AP : PQ : QB = 3 : 4 : 5 gSA
PQC rFkk vk;r ABCD ds {ks=kiQy dk vuqikr
Kkr dhft,A
(a) 1 : 6 (b) 1 : 5

(c) 1 : 4 (d) 1 : 3

Parallelogram/lekarj prqHkqZt

A quadrilateral whose opposite sides are
parallel and equal is called as a parallelogram.

,slk prqHkqZt ftldh foijhr Hkqtk,¡ lekarj ,oa cjkcj
gks] lekarj prqHkqZt dgykrkgSA

CD

A B

Important Points/egRoiw.kZ fcUnq

 Opposite sides are parallel and equal.

foijhr Hkqtk,¡ lekarj ,oa cjkcj gksrh gSA
 Diagonals may or may not be equal.

fod.kZ cjkcj gks Hkh ldrs gS ;k ugha Hkh gks ldrs gSA
 Diagonals may or may not bisect each other

at right angles.

fod.kZ ,d&nwljs dks ledks.k ij izfrPNsn dj Hkh ldrs
gSa ;k ugha Hkh dj ldrs gSaA
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 Sum of any two adjacent angles = 180º

fdUgha nks laxr dks.kksa dk ;ksxiQy 180º gksrk gSA
 Bisectors of the four angles enclose a

rectangle.

pkjkssa dks.kksa ds lef}Hkktd vk;r cukrs gSaA

A B

CD

P

Q

R
S

AS, BP, CQ and DR are angle bisectors
therefore, PQRS is a rectangle.

AS, BP, CQ vkSj DR dks.k lef}Hkktd gSaA blfy,
PQRS ,d vk;r gSA

 Each diagonal divides the parallelogram into
two triangle of equal area.

izR;sd fod.kZ lekarj prqHkqZt dks nks cjkcj {ks=kiQy ds
f=kHkqtksa esa foHkkftr djrk gSA

CD

A B

Area of DABC = Area of DADC.

 A parallelogram inscribed in a circle is
always a rectangle.

òÙk ds varj cuk gqvk lekarj prqHkqZt ges'kk vk;r gksrk gSA

A B

CD

 A parallelogram circumscribed about a circle
is always a rhombus.

òÙk ds ifjr% cuk lekarj prqHkqZt ges'kk le prqHkqZt gksrk gSA

CD

A B

Therefore ABCD is a rhombus.

blfy, ABCD ,d leprqHkqZt gSaA

CD

A BP

Q

R

S

Area of PQRS = 
1

2
 × Area of ABCD

 Area of parallelogram = Base × Height

lekarj prqHkqZt dk {ks=kiQy = AB × h

CD

A B

h

 Area of parallelogram = AB × AD sinq

lekarj prqHkqZt dk {ks=kiQy
 In a parallelogram the sum of the square of

the diagonals = 2 × (sum of the squares of
the two adjacent sides.)

lekarj prqHkqZt esa] nksuksa fod.kks± ds ;ksxiQy = 2 × (nks
laxr Hkqtkvksa ds oxks± dk ;ksxiQy)

CD

A B

AC2 + BD2 = 2(AB2 + AD2)

Ex.1. In a parallelogram ABCD, OBC = 48º, the
value of x is :

lekarj prqHkqZt ABCD esa] OBC = 48º gS] rks x
dk eku Kkr dhft,A

A B

CD

O

30º

50º

xº

(a) 42º (b) 38º

(c) 48º (d) 52º

Ex.2. In a parallelogram PQRS, an angle P is
four times that of the angle Q, the
measure of R is :

lekarj prqHkqZt PQRS esa dks.k P dks.k Q dk pkj
xquk gSA R dh eki gS %
(a) 144º (b) 36º

(c) 72º (d) 130º
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Ex.3. The diagonals AC and BD of a
parallelogram ABCD cut each other at a
point O. If DAC = 30º and AOB = 80º,
then DBC = ?

lekarj prqHkq Zt ABCD ds fod.kZ AC rFkk BD

,d&nwljs dks fcUnq O ij izfrPNsn djrs gSaA ;fn
DAC = 30º vkSj AOB = 80º gS] rks DBC = ?

A D

CB

O

30º

80º

(a) 150º (b) 50º

(c) 120º (d) 100º

Ex.4. In a parallelogram ABCD, diagonals AC
and BD intersect each other at a point O.
If the area of OAB = 8 cm2, then the area
of parallelogram ABCD is :

lekarj prqHkq Zt ABCD esa fod.kZ AC rFkk BD

,d&nwljs dks fcUnq O ij izfrPNsfnr djrs gSaA ;fn
OAB dk {ks=kiQy = 8 oxZ lseh gS] rks lekarj prqHkqZt
ABCD dk {ks=kiQy gS %

A D

CB

O

(a) 32 cm2

(b) 16 cm2

(c) 24 cm2

(d) Cannot be determined

Ex.5. ABCD is a parallelogram, AB = 14 cm, BC
= 18 cm and AC = 16 cm. Find the length
of the other diagonal.

ABCD ,d lekarj prqHkqZt gS] ftlesa AB = 14 lseh]
BC = 18 lseh vkSj AC = 16 lseh gSA nwljs fod.kZ
dh yackbZ Kkr dhft,A
(a) (b)

(c) (d)

Ex.6. In a parallelogram ABCD, AC = 14 cm, BD
= 8 cm and AB = 9 cm, what is the value
of side AD?

lekarj prqHkqZt ABCD esa AC = 14 lseh] BD = 8

lseh vkSj AB = 9 lseh gSA Hkqtk AD dk eku gS %
(a) 7 cm (b) 9 cm

(c) 8 cm (d) 6 cm

Ex.7. BO and CO are the angle bisectors of
angles B and C respectively. If B =
78º, then value of BOC is :

BO rFkk CO Øe'k% B rFkk C ds lef}Hkktd gSaA
;fn B = 78º gS] rks BOC dk eku gS %

A D

C

O

B

(a) 102º (b) 51º

(c) 90º (d) 78º

Ex.8. In a parallelogram PQRS, PQ = 12 cm and
the distance between PQ and RS is 8 cm,
the area of the parallelogram is :

lekarj prqHkqZt PQRS esa PQ = 12 lseh vkSj PQ

rFkk RS ds chp dh nwjh 8 lseh gSA lekarj prqHkqZt
dk {ks=kiQy gS %

S R

Q

O

P
12 cm

8 cm

(a) 96 cm2 (b) 48 cm2

(c) 192 cm2 (d) None of these

Ex.9. Find the area of a parallelogram PQRS if
PQ = 9 cm, RQ = 16 cm and P = 30º.

lekarj prqHkqZt PQRS dk {ks=kiQy Kkr dhft, ;fn
PQ = 9 lseh] RQ = 16 lseh rFkk P = 30º gSA

P Q

RS

16 cm

9 cm

(a) 144 cm2 (b) 72 cm2

(c) 96 cm2 (d) 36 cm2

Ex.10. In the given figure AB||DF and AB = CD
= EF. If the area of AED = 8 cm2 and the
area of the quadrilateral ABCE is 22 cm2,
the area of the triangle BCF is :

fn;s x, vkÑfr esa AB||DF vkSj AB = CD = EF

gSA ;fn AED = 8 oxZ lseh vkSj prqHkqZt ABCE

dk {ks=kiQy 22 oxZ lseh gS] rks f=kHkqt BCF dk {ks=kiQy
gS %
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A

D C

O

FE

B

(a) 4 cm2 (b) 14 cm2

(c) 7 cm2 (d) 8 cm2

Ex.11. In a parallelogram ABCD, AB = 24 cm and

AD = 16 cm. If the distance between the

side AB and DC is 10 cm, what is the

distance between the side AD and BC?

lekarj prqHkqZt ABCD esa] AB = 24 lseh vkSj AD

= 16 lseh gSA ;fn AB vkSj DC ds chp dh nwjh
10 lseh gS] rks AD vkSj BC ds chp dh nwjh D;k
gS\
(a) 16 cm (b) 18 cm

(c) 15 cm (d) 26 cm

Ex.12.Area of parallelogram 1000 cm2 and ratio

of two adjacent sides 3 : 2. If the distance

between larger sides is 20 cm, then find

the distance between smaller sides?

lekarj prqHkqZt dk {ks=kiQy 1000 oxZ lseh vkSj nks
laxr Hkqtkvksa dk vuqikr 3 % 2 gSA ;fn cM+h Hkqtkvksa
dh chp dh nwjh 20 lseh gks rks NksVh Hkqtkvksa ds
chp dh nwjh D;k gS\
(a) 30 cm (b) 20 cm

(c) 24 cm (d) 28 cm

Ex.13.ABCD is a parallelogram. P and Q are mid

points of BC and CD. Find the area of

APQ if area of ABC is 12 sq. unit.

ABCD ,d lekarj prqHkqZt gSA P rFkk Q Hkqtk BC

vkSj CD ds eè; fcUnq gSA APQ dk {ks=kiQy Kkr
dhft, ;fn ABC dk {ks=kiQy 12 oxZ ek=kd gSA
(a) 8 (b) 9

(c) 6 (d) 12

Ex.14.ABCD is a parallolegram. E is a point on

extended side AB such that AB = BE. By

joining D to E it intersects side BC at P.

Find length of PC if BC = 15 cm.

ABCD ,d lekarj prqHkqZt gSA Hkqtk AB dks fcUnq E
rd bl izdkj c<+k;k x;k gS fd AB = BE gSA D
dks E ls feykus ij ;g BC dks fcUnq P ij izfrPNsn
djrh gSA PC dh yackbZ Kkr dhft, ;fn BC = 15

lseh gksA
(a) 6.5 cm (b) 5.5 cm

(c) 4.5 cm (d) 6 cm

Ex.15. In the below figure, ABCD is a
parallelogram. If area of OAB = 129 cm2

then, find the area of OBC.

uhps fn;s x;s fp=k esa ABCD ,d lekarj prqHkqZt gSA
;fn OAB dk {ks=kiQy = 129 oxZ lseh gS] rks
OBC dk {ks=kiQy Kkr dhft,A

A B

CD

O

(a) 19 cm2 (b) 17 cm²

(c) 15 cm² (d) 13 cm²

Ex.16.ABCD is a parallelogram. E and F are
centroid of triangles ABD and BDC
respectively. Find the length of EF if
length of diagonal AC = 12 cm.

ABCD ,d lekarj prqHkqZt gSA E rFkk F Øe'k% f=kHkqt
ABD vkSj BDC ds dsUnzd gSaA ;fn fod.kZ AC dh
yackbZ 12 lseh gS] rks EG dh yackbZ Kkr dhft,A
(a) 2 cm (b) 3 cm

(c) 4 cm (d) 5 cm

Rhombus

A parallelogram in which all sides are equal,
is called a rhombus.

,slk lekarj prqHkqZt ftldh lHkh Hkqtk,¡ cjkcj gksrh
gSa] le prqHkqZt dgykrk gSA

90º

A B

CD

Important Points/egRoiw.kZ fcUnq

 Opposite sides are parallel and equal.

foijhr Hkqtk,¡ lekarj ,oa cjkcj gksrh gSA
 Opposite angles are equal.

foijhr dks.k cjkcj gksrs gSaA
 Diagonals bisect each other at right angle,

but they are not necessarily equal.

fod.kZ ,d&nwljs dks ledks.k ij lef}Hkkftr djrs gSa
ysfdu vko';d ugha fd os cjkcj gksaA

 Diagonals bisect the vertex angles.

fod.kZ] 'kh"kZ dks lef}Hkkftr djrs gSaA
 Sum of any two adjacent angles is 180º

A + B = 180º

fdUgha nks laxr dks.kksa dk ;ksxiQy 180º gksrk gSA
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 Figure formed by joining the mid-points of
the adjacent sides of a rhombus is a
rectangle.

leprqHkqZt dh Hkqtkvksa ds eè; fcUnqvksa dks feykus ls cuh
vkÑfr vk;r gksrh gSaA

CD

A BP

Q

R

S

Therefore, PQRS is a rectangle.

 Area of a rhombus/le prqHkqZt dk {ks=kiQy

= 
1

2
 × product of diagonals (fod.kks± dk xq.kuiQy)

= 
1

2
× d

1
 × d

2

A B

CD

a

O

d1

d2

ABCD is a rhombus of side a

 ABCD ,d leprqHkqZt gS ftldh Hkqtk a gSA

Area of AOB/ dk {ks=kiQy

=
211

2 2 2

dd
   = 

1

8
 × d

1
d

2

Area of ABCD/dk {ks=kiQy
= 4 × Area of AOB

=
1

2
 × d

1
d

2

d
1 
= 

sin
2

2
a


,    d

2
 = 

cos
2

2
a



 Now Area of ABCD/vc ABCD dk {ks=kiQy

=
1

2
 × 

sin
2

2
a


 × 

cos
2

2
a



=
2 sin cos

2
2 2

a
 


= a2sin


2 2
1 2d d  = 4a2

Ex.1. ABCD is a rhombus with diagonals AC and
BD. Which one among the following is
correct?

ABCD ,d le prqHkqZt gS ftlds fod.kZ AC rFkk
BD gSaA fuEu esa ls dkSu&lk lR; gS\
(a) AC and BD bisect each other but not

necessarily perpendicular to each
other.

AC rFkk BD ,d&nwljs dks lef}Hkkftr djrs gSa
ijarq vko';d ugha fd ,d&nwljs ij yac gksaA

(b) AC and BD perpendicular to each
other but not necessarily bisect each
other

AC rFkk BD ,d&nwljs ij yac gSa ijarq vko';d
ugha fd ,d&nwljs dks lef}Hkkftr djrs gksaA

(c) AC and BD bisect each other and
perpendicular to each other.

AC rFkk BD ,d&nwljs dks lef}Hkkftr djrs gSa
ijarq vkSj ,d&nwljs ij yac gSaA

(d) AC and BD neither bisect each other
nor perpendicular to each other.

AC rFkk BD ,d&nwljs dks u rks lef}Hkkftr
djrs gSa vkSj u gha ,d&nwljs ij yac gSaA

Ex.2. If PQRS is a rhombus and SPQ = 50º,
then RSQ is :

;fn PQRS ,d leprqHkqZt gks vkSj SPQ = 50º

gksa] rks RSQ dk eku gS %

P Q

RS

50º

(a) 55º (b) 65º

(c) 45º (d) 75º

Ex.3. ABCD is a rhombus. If AB = 3x – 2 and
BC = 10 – x, then DA is :

ABCD ,d leprqHkqZt gSA ;fn AB = 3x – 2 vkSj
BC = 10 – x gS] rks  DA gS %
(a) 5 (b) 3

(c) 11 (d) 7

Ex.4. In the given figure, ABCD is a rhombus
and O is the point of intersection of the
two diagonals. If DAO = 30º, then OBC
is :

nh xbZ vkÑfr esa ABCD ,d leprqHkqZt gS vkSj O
nks fod.kks± dk izfrPNsn fcUnq gSA ;fn DAO =

30º gS] rks OBC gS %
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A

D C

O

B

30º

(a) 30º (b) 60º

(c) 45º (d) 15º

Ex.5. ABCD is a rhombus in which ratio of A
and B is 4 : 5, then C is :

leprqHkqZt ABCD esa A vkSj B dk vuqikr 4 : 5

gS] rks C gS %

A

D C

O

B
30º 60º

60º

30º

30º
60º

60º

(a) 50º (b) 45º

(c) 80º (d) 95º

Ex.6. If ABCD be a rhombus. AC is its smallest
diagonal and ABC = 60º. Find the length
of one side of the rhombus when AC = 6
cm.

ABCD ,d leprqHkqZt gSA AC bldk lcls NksVk
fod.kZ gS vkSj ABC = 60º gSA leprqHkqZt dh Hkqtk
dh yackbZ Kkr djsa tc AC = 6 lseh gSA
(a) 6 cm (b) 3 cm

(c) 6 2  cm (d) 3 3  cm

Ex.7. The diagonals of a rhombus are 24 cm and
10 cm. The perimeter of the rhombus (in
cm) is :

;fn fdlh leprqHkqZt ds fod.kZ 24 lseh rFkk 10
lseh gks] rks bldk ifjeki (lseh esa) gS %
(a) 68 (b) 65

(c) 54 (d) 52

Ex.8. A rhombus ABCD is inscribed in a circle,
the ABCD will be a/an

,d leprqHkqZt ABCD ,d o`Ùk ds vanj cukgqvk
gSA ABCD gksxk %
(a) trapezium

(b) square

(c) rectangle

(d) isosceles trapezium

Ex.9. If the perimeter of rhombus is 150 cm
and length of one diagonal is 50 cm. Then
find the length of second diagonal and
area of rhombus.

;fn leprqHkqZt dk ifjeki 150 lseh vkSj blds ,d
fod.kZ dh yackbZ 50 lseh gS] rks nwljs fod.kZ dh
yackbZ rFkk leprqHkqZt dk {ks=kiQy Kkr dhft,A

Ex.10.If the sum of length of diagonal of a
rhombus is sec and perimeter is 2tan.
Find the area of rhombus.

;fn fdlh le prqHkqZt ds fod.kks± dh yackbZ dk
;ksx sec rFkk ifjeki 2 tan gS] rks leprqHkqZt
dk {ks=kiQy Kkr dhft,A
(a) 1/2 (b) 1/3

(c) 1/4 (d) 2/3

Trapezium

A quadrilateral whose only one pair of sides
is parallel and other two sides are not parallel.

lekarj prqHkqZt ftlesa Hkqtvksa dk ,d ;qXe lekarj gksrs
gSa vkSj ckdh nks Hkqtk,¡ lekarj ugha gksrs gSa leyEc dgykrs
gSaA

A B

CD

E F

 A trapezium can be divided into smaller ones
by drawing a line parallel to the parallel
sides.

lekarj Hkqtkvksa ds lekukarj ,d js•k •hapdj NksVs
leyEc prqHkqtksa esa foHkkftr fd;k tk ldrk gSA

B

CD

a

b

x

y

If the line divides the non-parallel sides in
the ratio of x : y then the length of the line

;fn dksbZ js•k xSj&lekukarj Hkqtkvksa dks x : y  ds
vuqikr esa foHkkftr djrh gS rks js•k dh yackbZ

EF = 
ax by

x y





Important Points/egRoiw.kZ fcanq

 The line joining the mid-points of the
oblique (nonparallel) sides is half the sum
of the parallel sides and is called the median.
i.e. x = y
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frjNh (xSj&lekukarj) Hkqtkvksa ds eè;&fcanqvksa dks feykus
okyh js•k lekukarj Hkqtkvksa ds ;ksx dh vk/h gksrh gS
vkSj ekfè;dk dgykrh gSA ;kuh x = y

EF = 
1

2
 × (AB + DC)

 Diagonals intersect each other
proportionally in the ratio of lengths of
parallel sides.

fod.kZ ,d nwljs dks lekukarj Hkqtkvksa dh yackbZ ds
vuqikr esa lekuqikrh :i ls dkVrs gSaA

A B

CD

O

AO DO AB
= =

CO BO CD
 (by similarity property)/

le:irk ds xq.k ls
 Area of DAOD = Area of DBOC

 AC2 + BD2 = AD2 + BC2 + 2(AB × CD)

 Area of trapezium/leyEc prqHkZqt dk {ks=kiQy

= 
1

2
 × (sum of parallel sides × height)

= 
1

2
× (AB + CD) × h

A B

CD

h

Ex.1. ABCD is a trapezium where AD||BC. The
diagonals AC and BD intersect each other
at a point O. If AO = 3, CO = x – 3, BO =
3x – 19 and DO = x – 5, the value of x is :

ABCD ,d leyEc prqHkqt gS ftlesa AD||BC gSA
fod.kZ AC rFkk BD ,d nqljs dks fcanq O ij izfrPNsn
djrs gSA ;fn AO = 3, CO = x – 3, BO = 3x –

19 vkSj DO = x – 5 gS rks x dk eku gS
(a) – 8, 9 (b) 8, – 9

(c) – 8, – 9 (d) 8, 9

Ex.2. ABCD is a trapzeium where AD||BC. The
diagonals AC and BD intersect each other
at point O. If BAD = 40 cm2 and AOD
is 15 cm2, the DOC is :

ABCD ,d leyEc prqHkqZt gS tgk¡ ftlesa AD||BC

gSA fod.kZ AC rFkk BD ,d nqljs dks fcanq O ij
izfrPNsn djrs gSA ;fn BAD dk {ks=kiQy 40 lseh2

rFkk AOD  dk {ks=kiQy 15 lseh2 gks rks DOC dk
{ks=kiQy gS
(a) 15 cm2 (b) 20 cm2

(c) 25 cm2 (d) 27.5 cm2

Ex.3. In the given figure, AB ||DC. If AOD and
DOC are, respectively, 36 cm2 and 48
cm2, what is the value of AOB?

fn, x, vkÑfr esa AB ||DC gS ;fn AOD vkSj
DOC ds {ks=kiQy Øe'k% 36 lseh2 vkSj 48 lseh2 gS
rks AOB {ks=kiQy gS

D

A B

O

C

(a) 27 cm2 (b) 24 cm2

(c) 48 cm2 (d) 60 cm2

Ex.4. In trapezium ABCD, AB||DC. X is the
mid-point of the side AD and Y is the mid
point of the side BC. If AD = 12 cm, DC =
8 cm and AB = 18 cm, then XY is :

fdlh leyEc prqHkqZt ABCD esa AB||DC gSA X Hkqtk
AD dk eè;qfcanq gS rFkk Y Hkqtk BC eè;fcanq gS ;fn
AD = 12 lseh DC = 8 lseh vkSj AB = 18 lseh gks
rks XY dk eku gSA

A

D C

X

B

Y

(a) 10 cm (b) 5 cm

(c) 13 cm (d) 15 cm

(a) Isosceles Trapezium: A trapezium which has
equal oblique sides.

lef}ckgq leyEc prqHkqZt % ,d leyEc prqHkZqt ftlesa
frjNh Hkqtk,¡ cjkcj gksrh gSA

Important Points/egRoiw.kZ fcanq

A B

CD

a

b

 AD = BC

 DAB = CBA
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 Diagonals are equal, AC = BD/fod.kZ cjkcj gksrs
gS] AC = BD

 If a trapezium is inscribed in a circle it has

to be one isosceles trapezium.

;fn leyEc prqHkZqt dks ,d o`Ùk ds vanj cuk;k tkrk
gSA rks ;g ,d lef}ckgq leyEc prqHkqZt gksrk gSA

 ADC + DAB = ABC + BCD = 180°

 The length in terms of a and b, of a parallel
line segment (i.e. EF) through the

intersection of diagonals of the isosceles

trapezium is /leyEc prqHkqZt ds fod.kksZ ds izfrPNsn

ls gksdj xqtjus okys lekUrj js[kk [kaM  (EF)  dh a

yEckbZ = 
ab

a b

2

A B

CD

E F

a

b

Ex.5. In the figure ABCD is a trapezium with
AB || DC and AD : DC = 3 : 1. What is the

ratio of the area of DAOB and DCOD ?

fn, x, vkÑfr esa ABCD ,d leyEc prqHkqZt gS
ftlesa  AB || DC vkSj AD : DC = 3 : 1 gSA DAOB

rFkk DCOD ds {ks=kiQyksa dk vuqikr D;k gSA

A B

CD

O

(a) 9 : 1 (b) 3 : 1

(c) 6 : 1 (d) 27 : 1

Ex.6. In a trapezium ABCD, AB = 3DC. If Area
(DOCD) = 12 sq. cm, find Area (DOAB).

fdlh leyEc prqHkqZt ABCD esa AB = 3DC gSA ;fn
(DOCD)  dk {ks=kiQy = 12 lseh2 gS rks (DOAB) dk
{ks=kiQy Kkr dhft,A

A B

CD

O

Ex.7. ABCD is an isosceles trapezium in which
AB = CD and AD||BC. If AD = 5 cm, BC =
9 cm and area of trapezium is 35 cm2,
then find the length of side CD.

ABCD ,d lef}okgq leyEc prqHkqZt gS ftlesa AB

= CD vkSj AD||BC gSA ;fn  AD = 5 lseh] BC =

9 lseh vkSj leyEc prqHkqZt dk {ks=kiQy 35 lseh2, gS
rks CD dh yEckbZ Kkr dhft,A

Ex.8. In a trapezium, the two non-parallel sides
are equal in length, each being of 5 cm.
The parallel sides are at a distance of 3
cm apart. If the smaller side of the
parallel sides is of length 2 cm, the sum
of the diagonals of the trapezium is :

,d leyEc prqHkZqt esa] nks xSj&lekukarj Hkqtk,¡ yackbZ
esa cjkcj gksrh gSa] ftuesa ls çR;sd dh yackbZ 5 lseh
gSA lekukarj Hkqtk,¡ 3 lseh dh nwjh ij gSaA ;fn lekarj
Hkqtkvksa  esa NksVh Hkqtk dh yackbZ 2 lseh gS] rks leyEc
prqHkZqt ds fod.kks± dk ;ksx gS%

(a) 10 5  cm (b) 6 5  cm

(c) 5 5  cm (d) 3 5  cm

Ex.9. Find the area of a trapezium ABCD, if
AB||DC, AB = 12 cm, CD = 8 cm and the
distance between AB and CD is 5 cm.

leyEc prqHkqZt ABCD dk {ks=kiQy Kkr dhft, ;fn
AB||DC, AB = 12 lseh, CD = 8 lseh vkSj AB

rFkk CD ds chp dh nwjh 5 lseh gSA
(a) 25 cm2 (b) 24 cm2

(c) 48 cm2 (d) 50 cm2

Kite

A quadrilateral is called a kite, it have two
pairs of equal and adjacent.

,d prqHkZqt dks irax dgk tkrk gS] blesa leku vkSj
vklUu ds nks ;qXe gksrs gSaA

A

B

C

D
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Important Points/egRoiw.kZ fcanq

 Two pairs of adjacent sides are equal.

laxr Hkqtkvksa ds nks ;qXe cjkcj gksrs gSaA
 The diagonals intersect at right angles.

fod.kZ ledks.k ij çfrPNsn djrs gSaA
 The longer diagonal bisects the shorter

diagonal.

yack fod.kZ NksVs fod.kZ dks lef}Hkkftr djrk gSA

 Area = 
1

2
 × product of diagonals.

= 
1

2
× AC × BD

Ex. What is the area of the given quadrilateral
ABCD?

fn, x, prqHkZqt ABCD dk {ks=kiQy D;k gS\

A

B C

D
6

6 6

8
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1. If two parallel lines are cut by two distinct
transversals, the quadrilateral formed by
the four lines is always a :

;fn nks lekUrj js•kvksa dks nks fHkUu fr;Zd js•kvksa
}kjk dkVk tkrk gS] rks pkj js•kvksa ls cuus okyk
prqHkZqt lnSo ,d gksrk gS%
(a) square (b) parallelogram

(c) rhombus (d) trapezium

2. A diagonal of rhombus/leprqHkZqt dk ,d
fod.kZ
(a) divides it into two similar triangles of

different area./bls vyx&vyx {ks=k ds nks
leku f=kHkqtksa esa foHkkftr djrk gSA

(b) is also the bisector of angles/dks.kksa dk
f}Hkktd Hkh gS

(c) of same length as each side/çR;sd Hkqtk
ds leku yackbZ dk gksrk gSA

(d) None of these/buesa ls dksbZ ugha
3. If mid-points of consecutive sides of a

quadrilateral are joined, the figure formed
is a

;fn fdlh prqHkZqt dh Øekxr Hkqtkvksa ds eè;&fcanqvksa
dks feyk fn;k tk,] rks cuus okyh vkÑfr gS a
(a) square (b) rectangle

(c) parallelogram (d) rhombus

4. The quadrilateral formed by the bisectors
of the angles of a parallelogram is a :

lekarj prqHkZqt ds dks.kksa ds f}Hkktd }kjk cuk prqHkZqt
,d gS%
(a) parallelogram (b) square

(c) rectangle (d) rhombus

5. If the diagonals of a rhombus are equal,
the exterior angles of the rhombus are :

;fn ,d leprqHkZqt ds fod.kZ cjkcj gSa] rks leprqHkZqt
ds cká dks.k gSa%
(a) acute (b) obtuse

(c) right

(d) two acute and two obtuse

6. The quadrilateral formed by joining the
mid points of a rhombus is a :

,d leprqHkZqt ds eè; fcanqvksa dks feykus ls cuus
okyk prqHkZqt gksrk gS%
(a) parallelogram (b) square

(c) rectangle (d) rhombus

7. In the quadrilateral ABCD show below,
DAB = DCX = 120º. If ABC = 105º,
what is the value of ADC?

uhps fn[kk, x, prqHkqZt ABCD esa  DAB = DCX

= 120º gSA ;fn ABC = 105º gS rks ADC?

A

D C

X

B

(a) 45º (b) 60º

(c) 75º (d) 95º

8. If AD||BE, DCE = 85º and BDC = 30º,
what is the value of x?

;fn AD||BE, DCE = 85º vkSj BDC = 30º

gS rks x dk eku gSA
A

B C

D

E

30º

85º

x

(a) 30º (b) 35º

(c) 45º (d) 55º

9. What  is t he value of x in the figure given
below :

uhps nh xbZ vkÑfr eas x dk eku gSA

a

x

A

B

C

D

b

c

(a) b – a – c (b) b – a + c

(c) b + a – c (d)  – (a + b + c)

Practice Exercise
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10. In quadrilateral ABCD, producing side BA
and DC at E and F and ABC = x°, ADC
= y°, BCF = a°, DAE = b° then x + y = ?

prqHkqZt ABCD esa Hkqtk BA rFkk DC dks fcanq E rFkk
F rd c<+k;k x;k gS vkSj ABC = x°, ADC =

y°, BCF = a°, DAE = b° gS rks x + y = ?

(a) a + b (b) 2a + b

(c) 2b + a (d) a + 3b

11. ABCD is a quadrilateral in which diagonal
BD = 64 cm, AL  BD and CM  BD, AL =
13.2 cm and CM = 16.8 cm, Find the area
of ABCD (in cm2)?

ABCD ,d prqHkqZt gS ftlesa fod.kZ BD = 64 lseh,
AL  BD vkSj CM  BD, AL = 13.2 lseh rFkk
CM = 16.8 lseh gS rks ABCD dk {ks=kiQy (lseh2)
Kkr dhft,\
(a) 422.4 (b) 690

(c) 537.6 (d) 960

12. The ratio of angles of a quadrilateral in order
is 1 : 2 : 3 : 4 then the quadrilateral is:

,d prqHkZqt ds dks.kksa dk Øe esa vuqikr 1%2%3%4 gS
rks prqHkZqt gS%
(a) Parallelogram (b) Rectangle

(c) Rhombus (d) Trapezium

13. Area of a quadrilateral ACDE is 36 cm2 If
B is the mid point of AC. Find the area
DABE of if AC || DE and BE || DC.

prqHkqZt ACDE dk {ks=kiQy 36 lseh2 gSA ;fn B Hkqtk
AC dk eè; fcanq gS rks DABE dk {ks=kiQy Kkr dhft,
;fn AC || DE rFkk BE || DC gSA
(a) 10 cm2 (b) 9 cm2

(c) 12 cm2 (d) CBD

14. Consider the following statements with
reference to the given figure:

nh xbZ vkÑfr ds lanHkZ esa fuEufyf•r dFkuksa ij
fopkj djsa%

A

B C

D

I. The sum of the areas of AOD and
BOC is equal to the sum of the areas
of AOB and DOC.

AOD rFkk BOC ds {ks=kiQyksa dk ;ksxiQy
AOB rFkk DOC ds {ks=kiQyksa ds ;ksxiQy ds
cjkcj gSA

II. AOD = BOC

III. AB + BC+CD + DA > AC + BD

Which of the above statements are

correct?/mi;qZDr esa ls dkSu ls dFku lR; gSA
(a) I and II only

(b) II and III only

(c) I and III only

(d) I, II and III

15. In the quadrilateral ABCD, AC = 7 cm, BD
= 8 cm and  AXD = 60°. Find the area
of ABCD.

prqHkqZt ABCD esa AC = 7 lseh, BD = 8 laseh vkSj
AXD = 60° gS rks ABCD dk {ks=kiQy Kkr djsaA
(a) 28 cm2

(b) 28 3 cm2

(c) 14 3  cm2

(d) 14 cm2

16. Two sides of a plot measure 32 m and 24
m and the angle between them is a
perfect righmt angle. The other two sides
measure 25 m each and the other three
angles are not right angles.

,d Hkw•aM dh nks Hkqtkvksa dk eki 32 eh vkSj 24
eh gS vkSj muds chp dk dks.k ,d iw.kZ ledks.k gSA
vU; nks Hkqtkvksa esa ls çR;sd dh eki 25 ehVj gS
vkSj vU; rhu dks.k ledks.k ugha gSaA

25 

25 

32

24 

(a) 768 m2 (b) 534 m2

(c) 696.5 m2 (d) 684 m2

17. ABCD is a square, P, Q, R and S are points
on the sides AB, BC, CD and DA
respectively, such that AP = BQ = CR =
DS. What is SPQ equal to ?

ABCD ,d oxZ gS fcanq P, Q, R rFkk S Øe'k% Hkqtkvksa
AB, BC, CD rFkk DA ij bl izdkj gS AP = BQ

= CR = DS gS rks SPQ cjkcj gSA
(a) 30º (b) 45º

(c) 60º (d) 90º

18. In the given figure, ABCD is a square in
which AO = AX. What is XOB?

fn, x, vkÑfr esa ABCD ,d oxZ gS ftleas AO =

AX gS rks XOB dk eku D;k gS\
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A B

CD

O

X
(a) 22.5º (b) 25º

(c) 30º (d) 45º

19. ABCD is a square. The diagonals AC and
BD meet at O. Let K and L be the points
on AB such that AO = AK and BO = BL. If
 = LOK, what is the value of tan?

ABCD ,d oxZ gS fod.kZ AC rFkk BD fcanq O ij
izfrPNsn djrs gS AB ij nks fcanq K rFkk L bl izdkj
gS fd AO = AK rFkk BO = BL gSA ;fn   = LOK

gks rks tan dk eku gS\

(a)
1

3
(b) 3

(c) 1 (d)
1

2
20. Let WXYZ be a square. If P, Q and R be

the mid-points of WX, XY and ZW,
respectively and K, L be the mid-points
of PQ and PR respecrtively. What is the

value of 
Area of PKL

Area of square WXYZ


?

WXYZ ,d oxZ gSA ;fn P, Q vkSj R Øe'k% Hkqtkvksa
WX] XY vkSj ZW ds eè;&fcanq gksa vkSj K, L

Øe'k% PQ vkSj PR ds eè;&fcanq gksaA

PKL

WXYZ

 dk {k=s kiQy
dk {k=s kiQy  dk eku D;k gSA

(a)
1

32
(b)

1

16

(c)
1

8
(d)

1

64

21. In a square PQRS, an equilateral triangle
TQR is formed, then m PTS  :

,d oxZ PQRS esa] ,d leckgq f=kHkqt TQR curk
gS] rks PTS% dh eki gS\
(a) 75º (b) 90º

(c) 120º (d) 150º

22. Inside a square ABCD, BEC is an
equilateral triangle. If CE and BD
intersect at O, then BOC is equal to :

,d oxZ ABCD ds vanj BEC ,d leckgq f=kHkqt
gSA ;fn CE vkSj BD, O ij çfrPNsn djrs gSa] rks
BOC cjkcj gksxk%
(a) 60º (b) 75º

(c) 90º (d) 120º

23. ABCD is a square, M is mid-point of AB
and N is mid-point of BC. Join DM and
AN which meet at O. Therefore, which is
true in the following ?

ABCD ,d oxZ gS M, AB dk eè;&fcanq gS vkSj
N, BC dk eè;&fcanq gSA DM vkSj AN  fcanq O

ij feyrs gSaA fuEufyf•r esa dkSu lk lR; gS\
(a) OA : OM = 1 : 2 (b) AN = MD

(c) ADM = ANB (d) AMD = BAN

24. A square and a rhombus have the same
base and the rhombus is inclined at 60°.
What is the ratio of the area of the square
to the area of the rhombus:

,d oxZ vkSj ,d leprqHkZqt dk vk/kj leku gS
vkSj leprqHkZqt 60° ij >qdk gqvk gSA oxZ ds {ks=kiQy
dk leprqHkZqt ds {ks=kiQy ls vuqikr fdruk gS\

(a) 1 : 1 (b) 2  : 1

(c) 2 : 1 (d) 2 : 3

25. ABCD is a rhombus. A straight line
through C cuts AD produced at P and AB

produced at Q. If DP = 
AB

2
, then the ratio

of the length of BQ and AB is :

ABCD ,d leprqHkZqt gSA ,d lh/h js[kk tks C ls
gks dj xqtjrh gS] AD dks c<+us ij fcanq P ls vkSj
AB dks i<+us ij fcanq Q  ij feyrh gSA ;fn DP =

AB

2
gS rks BQ rFkk AD dh yEckbZ dk vuqikr gSA

(a) 1 : 1 (b) 2 : 1

(c) 1 : 2 (d) None of the above

26. In the given figure, ABCD is a
quadrilateral with AB parallel to DC and
AD parallel to BC, ADC is a right angle. If
the perimeter of the DABE is 6 units,
what is the area of the quadrilateral?

nh xbZ vkÑfr esa] ABCD ,d prqHkZqt gS ftlesa AB

Hkqtk DC ds lekukarj vkSj AD Hkqtk BC ds lekukarj
gS] ADC ,d ledks.k f=kHkqt gSA ;fn DABE dk
ifjeki 6 bdkbZ gS] rks prqHkZqt dk {ks=kiQy D;k gS\

A B

CD E

60º 60º

(a) 2 3  sq. units (b) 4 sq. units

(c) 3 sq. units (d) 4 3  squ. units
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27. ABCD is a rectangle of dimensions 8 units
and 6 units. AEFC is a rectangle drawn
in such a way that the diagonal AC of the
first rectangle is one side and the side
opposite to it is touching the first
rectangle at D as shown in the given
figure. What is the ratio of the area of the
rectangle ABCD to that of AEFC?

ABCD 8 bdkb;ksa vkSj 6 bdkb;ksa ds vk;keksa dk
,d vk;r gSA AEFC ,d vk;r gS ftls bl rjg
ls •hapk x;k gS fd igys vk;r dk fod.kZ AC ,d
Hkqtk gS vkSj bldh foijhr Hkqtk igys vk;r dks D
ij Li'kZ dj jgk gS tSlk fd fn, x, fp=k esa fn•k;k
x;k gSA vk;r ABCD ds {ks=kiQy dk AEFC ds
{ks=kiQy ls vuqikr fdruk gS\

A B

C
D

E

F

6

8

(a) 2 (b)
3

2

(c) 1 (d)
8

9

28. ABCD is a rectangle in which the ratio of
the length of AB and BC is 3 : 2. If P is
the mid-point of AB, then the value of sin
CPB is:

ABCD ,d vk;r gS ftlesa AB vkSj BC dh yackbZ
dk vuqikr 3 % 2 gSA ;fn P, AB dk eè;&fcanq gS]
rks sinCPB dk eku gS%

(a)
3

5
(b)

2

5

(c)
3

4
(d)

4

5

29. In the below diagram, ABCD is a rectangle
with AE = 2EF = 3FB. What is the ratio
of the area of the rectangle to that of the
triangle CEF?

uhps fn, x, vkjs• esa ABCD ,d vk;r gS ftlesa
AE = 2EF = 3FB. gSA vk;r ds {ks=kiQy dk f=kHkqt
CEF ds {ks=kiQy ls vuqikr fdruk gS\

A B

CD

E F

(a) 11 : 3 (b) 22 : 3

(c) 11 : 6 (d) None of these

30. In the given figure. EADF is a rectangle
and ABC is a triangle whose vertices lie
on the sides of EADF. AE = 22, BE = 6,
CF = 16 and BF = 2. Find the length of
the line joining the mid-points to the side
AB and BC.

fn, x, fp=k esa EADF ,d vk;r gS vkSj ABC

,d f=kHkqt gS ftlds 'kh"kZ EADF dh Hkqtkvksa ij
fLFkr gSaA AE = 22, BE = 6, CF = 16 vkSj BF =

2 gSA eè;&fcanqvksa dks Hkqtk AB vkSj BC ls feykus
okyh js•k dh yackbZ Kkr dhft,A

A

B

C
D

E

F 16

22

(a) 4.2 (b) 5

(c) 3.5 (d) None of these

31. In the figure, rectangle ABCD is a
rectangle with length as 2 and breadth as
1. The area of rectangle BDFE is:

vkÑfr esa] vk;r ABCD ,d vk;r gS ftldh yackbZ
2 vkSj pkSM+kbZ 1 gSA vk;r BDEF dk {ks=kiQy gS%

A B

C
D E

F

(a) 2 (b) 2

(c) 5 (d) 1+ 2
32. ABCD is a parallelogram. E is a point on

BC such that BE : EC = m : n. If AE and
DB intersect in F, what is the ratio of the
area of FEB to the area of AFD?

ABCD ,d lekUrj prqHkqZt gSA E Hkqtk BC ij dksbZ
fcanq bl izdkj gS fd BE : EC = m : n gSA ;fn
AE rFkk DB ,d nwljs dks fcanq F ij izfrPNsn djrh
gS rks FEB dk AFD ds {ks=kiQy ls vuqikr gSA
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(a)
m

n
(b)

2
m

n

 
  

(c)

2
n

m

 
   (d)

2
m

m n

 
  

33. In the given figure, ABCD is a
parallelogram. P is a point in BC such that
PB : PC = 1 : 2 DP produced meets AB
produced at Q. If the area of the BPQ is
29 sq. units, what is the area of the DCP?

uhps fn, x, fp=k esa ABCD ,d lekUrj prqHkqZt
gSA P Hkqtk BC ij dksbZ fcanq bl izdkj gS fd PB :

PC = 1 : 2 gS DP dks c<+kus ij ;g AB ls fcanq Q
ij feyrh gSA ;fn BPQ dk {ks=kiQy 29 oxZ ek=kd
gks rks DCP dk {ks=kiQy D;k gS\

A B

CD

P

Q

(a) 20 sq. units (b) 30 sq. units

(c) 40 sq. units (d) None of the above

34. The middle-points of the parallel sides AB
and CD of a parallelogram ABCD are P and
Q, respectively. If AQ and CP divide the
diagonal BD into three parts BX, XY and
YD, which one of the following is correct?

,d lekarj prqHkZqt ABCD dh lekukarj Hkqtkvksa AB

rFkk CD ds eè;&fcanq Øe'k% P rFkk Q gSaA ;fn
AQ vkSj CP fod.kZ BD dks rhu Hkkxksa BX, XY

vkSj YD esa foHkkftr djrs gSa] rks fuEufyf•r esa ls
dkSu lk lgh gS\
(a) BX  XY  YD (b) BX = YD  XY

(c) BX = XY = YD (d) XY = BX

35. ABCD is a parallelogram. If the bisectors
of the A and C meet the diagonal BD
at points P and Q, respectively, which one
of the following is correct?

ABCD ,d lekarj prqHkZqt gSA ;fn A vkSj C ds
lef}Hkktd fod.kZ BD ls Øe'k% fcanq P vkSj Q ij
feyrs gSa] rks fuEufyf•r esa ls dkSu lk lgh gS\
(a) PCQA is a straight line

(b) APQ is similar to PCQ

(c) AP = CP

(d) AP = AQ

36. The sides of a parallelogram are 12 cm
and 8 cm long and one of the diagonals
is 10 cm long. If d is the length of other
diagonal, which one of the following is
correct?

,d lekarj prqHkZqt dh Hkqtk,¡ 12 lseh vkSj 8 lseh
yach gSa vkSj ,d fod.kZ 10 lseh yack gSA ;fn d

vU; fod.kZ dh yackbZ gS] rks fuEufyf•r esa ls dkSu
lk lgh gS\
(a) d < 8 cm

(b) 8 cm < d < 10 cm

(c) 10 cm < d < 12 cm

(d) d > 12 cm

37. An obtuse angle made by a side of a
parallelogram PQRS with other pair of
parallel sides of 150º. If the perpendicular
distance between these parallel sides (PQ
and SR) is 20 cm, what is the length of
the side RQ?

,d lekarj prqHkZqt PQRS dh ,d Hkqtk }kjk lekUrj
Hkqtkvksa ds nqljs ;qXe ds lkFk cuk;k x;k vf/d
dks.k 150° gSA ;fn bu lekukarj Hkqtkvksa (PQ vkSj
SR) ds chp dh yacor nwjh 20 lseh gS] rks Hkqtk
RQ dh yackbZ D;k gS\
(a) 40 cm (b) 50 cm

(c) 60 cm (d) 70 cm

38. In the figure given below, M is the mid-
point of the side CD of the parallelogram
ABCD. What is ON : OB?

uhps nh xbZ vkÑfr esa] M lekarj prqHkZqt ABCD dh
Hkqtk CD dk eè;&fcanq gSA ON : OB dk eku gS\

A B

CD

O

M

N

(a) 3 : 2 (b) 2 : 1

(c) 3 : 1 (d) 5 : 2

39. In a parallelogram ABCD, one side AB =
24 cm and second side AD = 16 cm.
Distance between AB and DC is 10 cm.
Therefore, distance between AD and BC
will be ?

,d lekarj prqHkZqt ABCD esa] ,d Hkqtk AB ¾ 24
lseh vkSj nwljh Hkqtk AD ¾ 16 lseh gSA AB vkSj
DC ds chp dh nwjh 10 lseh gSA AD vkSj BC ds
chp dh nwjh gksxh \
(a) 16 cm (b) 18 cm

(c) 15 cm (d) 26 cm
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40. The length of the diagonal BD of the
parallelogram ABCD is 18 cm. If P and Q
are the centroid of the ABC and ADC
respectively then the length of the line
segment PQ is :

lekarj prqHkZqt ABCD ds fod.kZ BD dh yackbZ 18
lseh gSA ;fn P vkSj Q Øe'k% ABC vkSj ADC

ds dsUæd gSa] rks js•k•aM PQ dh yackbZ gS%
(a) 4 cm (b) 6 cm

(c) 8 cm (d) 12 cm

41. The adjacent sides of a parallelogram are
12 cm and 8 cm and its one diagonal is
10 cm then other diagonal is :

,d lekarj prqHkZqt dh vklUu Hkqtk,¡ 12 lseh vkSj
8 lseh gSa vkSj bldk ,d fod.kZ 10 lseh gS rks
nwljk fod.kZ gS%
(a) 7.68 cm (b) 10 cm

(c) 2 79 cm (d) 13 cm

42. Diagonals of a parallelogram are 10 cm
and 24 cm respectively. If one of side is
13 cm, then the area of parallelogram is :

,d lekarj prqHkZqt ds fod.kZ Øe'k% 10 lseh vkSj
24 lseh gSaA ;fn ,d Hkqtk 13 lseh gS] rks lekarj
prqHkZqt dk {ks=kiQy gS%
(a) 60 cm2 (b) 120 cm2

(c) 130 cm2 (d) 240 cm2

43. ABCD is a parallelogram. If E and F are
two points situated on side DC and AD
respectively. A

1
 and A

2
 are the area of

AEB and BFC, then :

ABCD ,d lekarj prqHkZqt gSA ;fn E vkSj F nks
fcanq Øe'k% DC vkSj AD ij fLFkr gSaA A

1
 vkSj A

2

AEB vkSj BFC ds {ks=kiQy gSa] rks%
(a) A

1
 = A

2
(b) A

1
 = 2A

2

(c) 2A
1
= A

2
(d) 2A

1
 = 3A

2

44. ABCD is a parallelogram in which
diagonals AC and BD intersect at O. If E,
F G and H are the mid points of AO, DO,
CO and BO respectively, then the ratio of
the perimeter of the quadrilateral EFGH
to the perimeter of parallelogram ABCD
is :

ABCD ,d lekarj prqHkZqt gS ftlesa fod.kZ AC

vkSj BD fcanq O ij çfrPNsn djrs gSaA ;fn E, F,

G vkSj H Øe'k% AO, DO, CO vkSj BO ds eè;
fcanq gSa] rks prqHkZqt EFGH ds ifjeki dk lekarj
prqHkZqt ABCD ds ifjeki ls vuqikr gS %
(a) 1 : 4

(b) 2 : 3

(c) 1 : 2

(d) 1 : 3

45. PQRS is a parallelogram. A is point on side
PQ. Joining SA and RA such that it bisects
PSR and QRS, then SR is equal to :

PQRS ,d lekarj prqHkZqt gSA A  Hkqtk PQ ij
fLFkr ,d fcanq gSA SA vkSj RS dks bl çdkj feyk;k
x;k gS ;g PSR vkSj QRS dks lef}Hkkftr
djrk gS] rks SR  cjkcj gksxkA
(a) 2 PQ (b) 2 QR

(c) QR (d) 4PQ

46. In parallelogram ABCD, the line BE (where E
is a point on AD) intersect AC at F then :

lekUrj prqHkqZt ABCD esa js[kk BE (tgk¡ E Hkqtk AD ij
dksbZ fcanq gS)  AC dks fcanq F ij izfrPNsn djrh gS rks%
(a) EF × FB = AE × FC

(b) BF × FA = EF × FC

(c) AE × FC = BC × AF

(d) AE × AB = BC × FB

47. The side AB of a parallelogram ABCD is
produced to E in such way that BE = AB.
DE intersects BC at Q. The point Q
divides BC in the ratio :

,d lekarj prqHkZqt ABCD dh Hkqtk AB dks E rd
bl çdkj c<+k;k tkrk gS fd BE = AB gksA DE, BC

dks Q ij izfrPNsn djrh gSA fcanq Q, BC dks fdl
vuqikr esa foHkkftr djrk gS%
(a) 1 : 2

(b) 1 : 1

(c) 2 : 3

(d) 2 : 1

48. ABCD is parallelogram P and Q are the
mid-points of sides BC and CD respectively.
If the area of ABC is 12 cm2, then the
area of APQ is :

ABCD lekarj prqHkZqt gS P vkSj Q Øe'k% Hkqtkvksa
BC vkSj CD ds eè;&fcanq gSaA ;fn ABC dk {ks=kiQy
12 lseh2 gS] rks APQ dk {ks=kiQy gS%
(a) 12 cm2

(b) 8 cm2

(c) 9 cm2

(d) 10 cm2

49. One of the diagonal of a parallelogram is
17 cm and an angle of the parallelogram
is 45°. If height of the parallelogram is 8
cm then area of the parallelogram is :

,d lekarj prqHkZqt dk ,d fod.kZ 17 lseh gS vkSj
lekarj prqHkZqt dk ,d dks.k 45° gSA ;fn lekarj prqHkZqt
dh ÅapkbZ 8 lseh gS rks lekarj prqHkZqt dk {ks=kiQy gS%
(a) 184 cm2

(b) 88 cm2

(c) 92 cm2

(d) 104 cm2
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50. In a parallelogram ABCD, the mid-point
of AB is H. The line parallel to DH and
passing through B meets extended AD at
K. If BC = 6 cm, then DK is :

,d lekarj prqHkZqt ABCD esa AB dk eè;&fcanq H gSA
DH ds lekukarj vkSj B ls xqtjus okyh js•k] foLrkfjr
AD ls K ij feyrh gSA ;fn BC ¾ 6 lseh] rks DK gS%
(a) 10 cm (b) 4 cm

(c) 8 cm (d) 6 cm

51. In a parallelogram ABCD, M is the mid
point of BD. BM is the angle bisector of
B. What is the value of AMB?

,d lekarj prqHkZqt ABCD esa] M, BD dk eè; fcanq
gSA BM, B dk dks.k lef}Hkktd gSA AMB dk
eku D;k gS\
(a) 30º

(b) 45º

(c) 60º

(d) 90º

52. ABCD is a parallelogram in which AB =10
cm, AD = 6 cm. Bisector of A meets DC
at E and extended BC at F. Therefore,
length of CF will be ?

ABCD ,d lekarj prqHkZqt gS ftlesa AB ¾ 10 lseh]
AD ¾ 6 lseh gSA A dk lef}Hkktd DC ls E ij
vkSj c<+h gqbZ BC dks F ij feyrk gSA CF dh yackbZ
gksxh\
(a) 4 cm

(b) 2 cm

(c) 6 cm

(d) 8 cm

53. ABCD is a parallelogram in which O is the
intersection point of its diagonals. P is a
point on DO. If the area of APB is 24.5
cm2, then find the area of BPC.

ABCD ,d lekarj prqHkZqt gS ftlesa O blds fod.kks±
dk çfrPNsnu fcanq gSA P, DO ij ,d fcanq gSA ;fn
APB dk {ks=kiQy 24-5 lseh2 gS] rks BPC dk
{ks=kiQy Kkr dhft,A
(a) 19.5 cm2

(b) 49 cm2

(c) 24.5 cm2

(d) CBD

54. If area of parallelogram is A whose sides
are a and b and area of rectangle is B
whose sides are a and b then :

;fn lekarj prqHkZqt dk {ks=kiQy A gS ftldh Hkqtk,¡
a vkSj b gSa vkSj vk;r dk {ks=kiQy B gS ftldh
Hkqtk,¡ a vkSj b gSa rks %
(a) A > B (b) A = B

(c) A < B (d) A  B

55. ABCD is a trapezium in which EF is
parallel to BC. x = 120º and z = 50º,
what is y ?

ABCD ,d leyEc prqHkqZt gS ftlesa EF Hkqtk BC ds
lekUrj gS x = 120º rFkk z = 50º gS rks y ?

A

B C

D

E F

x

y

z

(a) 50º (b) 60º

(c) 70º (d) 80º

56. ABCD is a trapezium in which AB = CD,
AD || BC, AD = 5 cm and BC = 9 cm.
Therefore, If area of ABCD is 35 cm2, then
find the length of CD?

ABCD ,d leyEc prqHkqZt gS ftlesa AB = CD,

AD || BC, AD = 5 lseh vkSj BC = 9 lseh gSA
ABCD dk {ks=kiQy 35 lseh2 gS rks CD dh yEckbZ
Kkr dhft,A

(a) 29  cm

(b) 5 cm
(c) 6 cm

(d) 21  cm

57. Find the area of a trapezium ABCD in
which AB || DC, AB = 26 cm, BC = 25 cm,
CD = 40 cm and DA = 25 cm.

leyEc prqHkqZt ABCD dk {ks=kiQy Kkr dhft,A
ftlesa AB || DC, AB = 26 lseh, BC = 25 lseh,
CD = 40 lseh vkSj DA = 25 lseh gSA
(a) 648 cm2

(b) 792 cm2

(c) 660 cm2

(d) 798 cm2

58. ABCD is a trapezium with parallel sides
AB = 2 cm, and DC = 3 cm, E and F are
the mid-points of the non-parallel sides.
The ratio of area of ABFE of area of EFCD
is:

ABCD ,d leyac gS ftldh lekukarj Hkqtk,¡ AB

¾ 2 lseh gSa] vkSj DC ¾ 3 lseh] E vkSj F

xSj&lekukarj Hkqtkvksa ds eè;&fcanq gSaA ABFE ds
{ks=kiQy ds EFCD ds {ks=kiQy dk vuqikr gS%
(a) 9 : 10

(b) 8 : 9

(c) 9 : 11

(d) 11 : 9
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59. In trapezium ABCD, AB || DC and DC =
2 AB. EF drawn parallel to AB cuts AD at

F and BC at E such that 
BE 3

=
EC 4

.

Diagonal DB intersect EF at G. Find 
AN

FE
.

leyEc prqHkqZt ABCD esa AB || DC vkSj DC =

2 AB gSA EF dks AB ds lekUrj cuk;k x;k gS tks
AD dks F vkSj BC dks E ij  bl izdkj izfrPNsn

djrk gS fd 
BE 3

=
EC 4

 gSA fod.kZ DB, EF dks G ij

izfrPNsn djrk gS 
AN

FE
 Kkr dhft,A

(a)
10

7
(b)

4

7

(c)
3

7
(d)

7

10

60. In a trapezium ABCD, BAE = 30°, CDF
= 45°, BC = 6 cm and AB = 12 cm. Find
the area of ABCD.

leyEc prqHkqZt ABCD esa BAE = 30°, CDF

= 45°, BC = 6 lseh vkSj AB = 12 lseh gSA ABCD

dk {ks=kiQy Kkr dhft,A

A

B C

DE F

30º 45º

12 cm

6 cm

(a)  18 3+ 3  cm2 (b) 36 3  cm2

(c)  12 3 + 2 3 cm2 (d) None of these

Answer Key

1.(d) 2.(b) 3.(c) 4.(c) 5.(c) 6.(c) 7.(c) 8.(b) 9.(a) 10.(a)

11.(c) 12.(d) 13.(c) 14.(b) 15.(c) 16.(d) 17.(d) 18.(a) 19.(c) 20.(b)

21.(d) 22.(b) 23.(b) 24.(d) 25.(b) 26.(a) 27.(c) 28.(d) 29.(b) 30.(b)

31.(a) 32.(d) 33.(d) 34.(c) 35.(b) 36.(d) 37.(a) 38.(b) 39.(c) 40.(b)

41.(c) 42.(b) 43.(a) 44.(c) 45.(b) 46.(b) 47.(b) 48.(c) 49.(a) 50.(d)

51.(d) 52.(a) 53.(c) 54.(c) 55.(b) 56.(a) 57.(b) 58.(c) 59.(a) 60.(a)
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